Scientific Notation

H#athen all other significant values X 10#

If the number is less than zero, the exponent will be negative

0.0043 — 0,0043 — 4.3 x 103

i plarass
If the number is greater than ten, the exponent will be positive

15000—— 15000 — 1.5 x10*
graces

Practice Part A: Put the following values in correct scientific notation
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4. 602 000,000 000 000 000 000.0003toms 9 2.0 2 XI0 ° rbpyn

0,000,6626Js =3 . b2l Xi{}%qTS

Practice Part B: Put the following values in standard notation

7. 3765x10'm = 3, 65 . 0,00 0,337 650 000 m

3. 4.0x10-8g%9m0 = 0.000 000 40 ?

9.  7.26x10° L 0 ;
0299512 5 5 peo 072 6 L

10. 2.889241x10% 2 22Q,




